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/Vaxs )a. :z/ aris 
parnleloqiau uth pelets (0, o), 7), (1e, a) res) 
secteu etueen (2,3) an (r 6) 
frfansle uth pohets (o, 1), (2, 1), (2, 2) 

3) a. 6 s oue -ro-one the Cauain u 20 an uso 

.I-1l x L-4, 
2 trom O fo ahe line V 

-on e , hon oto 1, und =V 

3) 3u 44V 

3 4 2 
U-2v 

-
(z, =3 (3)(-2) - (1 )(a) -6-4 -1o 
(a,u) -2 

I5)z FS,nlt) &p-(Os(t) 
siatt) rcos (t) =| - 5 in (e) 

r 

&CzS) Sint) riose)| = Siult) -rcoS(E) 
Ir,t) Smce) 

SinCa) - CycostT) = |t 

Z CoS6 

Cose 2 -FSine SinSn G rcose 
r 

sfu (z, | (os6 - kSin6= (cos e ) (ey) - (s.int) Ers ) Cos 

2(r, e) Shu 0r(OSO 
ACCESAsoa eekesas = ros'o+ rs/urG 

4 rC cos'o1 Sae) 
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14) 6Cu, v) = (2v +4 u, 3v+ u) 

23) 7 3u+V - 2v 

3 2 u 
a 3 = (3)(-2) (1)4) = -6 -1 = -7 

u,u) Jaco be 7 

a. Avea of R Lo, 3 7x Zo, s1 (s 3x S /S 
/s x7 (oS 

b. ata of R 25]a [,71 s 3 6 18 
(8x 7 26 

/6.1 

)Fl,a) = 1, 2> F(-,-) =<, -1> 

. (1,2

3) F(0,1,1) = K0,1, 0> F(2,1, 0) = <2,0, 2> 

0,2 
o,,o> 

paee 2 
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5) 

) ) C 

div(F) 7 (t8) +2(3-23) 
2 

23) 

25-5)t (0 +22)) + (0-z) k 

, 2-z> 

25) diu lF): (z-2az) 1(2,13) 2(2**) 
-4 E) + (-2)4 (2 Fz*) 
-Z+ 2 z*-2) 

CurllE)| 0-i-x-ri1s-k 
2 

Z -227 2-1G 2al 
(2x-2z?)+ (-&)k 

-, 2z'-27 2*, 47 

21) div (7) hl2-**) #l717')+9z): 0 
Cubl(F) k l- 322)+( -2r)) + (1 

2-9 
= l-3 2, 1-27, 1+25> 
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